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;. When an equation is written in the form Ax + By = C, where A = 0, L AR :?._:
and A, B, and C are integers, it is written in standard form. . A ! B
: ; o2 | and Reflect
l T R TR A T SR AR Tﬂtﬂfl ( Describe below two &
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2 Mauldtn Middle School wants to make $4,740 from yearbooks. 4____1;
) S Print yearbooks x cost $60 and digital yearbooks y cost $15. This i
3 can be represented by the equation .GUX + 15y = 4,740. ( X 7 RB’ \n \{
2. Use the x- and y-intercepts to graph the equation. / \{ !
i o To find the x-intercept, let y = 0. To find the y-intercept, let x = (@ ’k/ ‘?D
i 60x + 15y = 4,740 60x + 15y = 4,740 w ’R\P \.( \1{ ____
o 60x + 15(0) = 4,740 60(0) + 15y = 4,740, ) ﬂ
. ULM Y l@ )Mmox — 4,740 15y = 4,740 _ I
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3 3. ln pret the 3 al]\a’ {Htercepts ePe. 50 y | y-intercept | %
7 l‘\te rceptisatt 400 When an equation is written | _i'
: DDII‘It (79, 0). This means E 35'3‘\ :; in slope-intercept form, e
they can sell 79 print ) S SK | y=mx+btheyintercept |
yearbooks and O digital > zzg N | isequalfob.
. yearbooks to earn $4,740. o e \\ l _
(=] L
1
7 The y-intercept is at the 100 (—= NG : z H mlr
2 point (0, 316). This means 53 DN X m W“h OLK w’ )
| they can sell O print yearbooks 0 20 40 60 80 100 ° me KS [juf\
i and 316 digital yearbooks to Paper Yearbooks Uﬂn Uﬂ
earn $4,740.
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; ¢. Mr. Davies spent 200 |
$230 on lunch for his 180
class. Sandwiches 160
x cost $6 and drinks 3 140
y cost $2. This can % 120
be represented by & 100
E the equation ‘E 80
Al 6x + 2y = 230. Use 8 60
._..;* ‘the x- and y-intercepts (} 0
5 @ to graph the equation. 'S.‘. -
T Then interpret the | C) M
el 5 10 15 20 2
i b § intercepts. 7) 1) ; Sandw
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State the x- and y-intercep
graph the equation. (Example 1) g ) lj} ii\ x

1. y=3x—9 \?:”’q (0{

ts of each equation. Then use the intercepts to
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3. A store sells juice boxes in packages of 6 boxes and 50 |
" 8 boxes. They have 288 total juice boxes. This IS 45
represented by the function 6x + 8y = 288. Use the : 40
x- and y-intercepts to graph the equation. Then E 35
interpret the x- and y-intercepts. (Examples 2 and 3) - 30
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4. _ Building on the Essential Question How can the
xintercept and y-intercept be used to graph a linear

equation? __ __ _ ————————
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Are you ready to move on? \
Shade the section That applies.
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